Y 7  AdRgabdrblatt [T PR

zu Potenzen mit gleicher Basis

LOosungen
Level 2 - Fortgeschritten — Blatt 3
LOosung Al
a) 3—10 b) 3—10 C) 310
d) 310 e) 7715 f) (=5)"6=5"°¢
g) (_2)—15 — _2—15 h) a—25 I) a6
i) a(6n2+3n) k) a(—3n—2n2+2) ) a(—13n—3n2+10)
m) a(2n2+n) n) 2(4n2—1) 0) a(4n2+24n+9)
Losung A2
a) a*b'—a®p+ah®—a*h' = —a'3bh"8 + aOb°

b) 6xy+9x72y° —8x*y~7 — 12xy = —6xy + 9x~2y° — 8x*y~7
c) 4-—10u*v®—10u ™t °%+5=9—10u*v® — 10u*v"°
d) 5a b3+ 15a°h~! —2a7°b?% — 6ab~?

e) a'®h~®+2a3b+ a*b®

f)  9x*y 104+ 12x73y 73 + 4x 71094

g) u %% —2y?+yttyt

h) 4a8p=* —12ab® + 9a'%p*

i) x8y~10 — x=6y2

j)  25a°bh71% — 9q~*p°

Losung A3

a) %x4+%x3+%x2 =%x2-(12x2 + 6x + 1)
b) 3% —3%¥=3%.(3* —1)

c) e —2e*=e ¥ (e -2)

d) te?* —2e*tl =¢e*-(t-e* — 2e)

Losung A4

a)  2x3+4y? b) —a®-—4b*

c) —xa¥ d) 6bx™—cy™

e) z°(x+y) f) pid+e-1)

g) y'(b+1) h) IM(c—-1)

) yix+1) )N A(CEEY)

k) 7(x+3)2 )  5(x-—1)2

m) 2(c—d)3 n) 4(a+2b)"

0) 7a3b?—5a%h3 p) 17a?x? —5m?n?

q) 5ad®+8x3 r) —8pgx3

s)  9c°d* + 10x%y? t)  9a?x% - 3m?n?

Losung A5

a) a®+a b) x®+x7 c) 12b5—15h8
d) 7,.2m+1 _ 7,.4m—1 e) x5b+1 _ x3b—4 f) Cn+2 + Cn+1
g) a*+2a°+a h) x°%—2x7 +x®8 i) a'?+2a°+ad
j)  b®—2b10 + p1* k)  4x*+ 12x° +9x° ) 16c° — 16t + 4¢12
m) 36¢1% —36¢° + 9c8 n) 9m*+ 30m° + 25m** 0) a*-a®

p) b0 _ 8 q) m6—nlo ) 9xB — 410

s) 16x°—36y!* t) 9c®—16d° u) -—-mé+nto

V) 9c®—16d° w) a®*+a®+ad+a’ X) x%—x1

y) a8 + a3b3 — a®h2 — b5 ) J2mHl 4 pmn+2 4 pmian+l k(n2+2n)
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Losung A6
a) ax—3

e) eZm—3

i) ZZx+4
m) x

CI) e2x+6
Losung A7

a) x°%+x*

£

b)
f)
i)
n)
r

3

- X

c) 3a®—4a+ 2a?

Aufgabénblatt ("

zu Potenzen mit gle/cher Bas:s

e) 5y2 _ 3y‘m+4 + 2y8
) 15x5y® 354'%°  75a3bx?y®
9 21a7b°  2x3y2
i) 18a’b” 21x%y% _ 9a*b*y*
35x3y2  12a5h3
Losung A8
a) x*y® b)
d) f48g40 e)
g) 54a8b28 h)
. clomgion
J) 210570430 k)
27a%b
m n
) 64x3y6 )
) 26ap°  16a°b?
P 22.32x6y8 ~ gx6y8

)
g)
k)

S)

b)
d)
f)

h)

a15b5
h3n r4an

5x16 20

y
16e4f24

25c4d*
36

Pot@n

LOosungen

Level 2 - Fortgeschritten — Blatt 3

C2m

.X,'3
lb—3

le+6

xY

5¢c + 4c* — ¢?

d) d3m
h) 1]2m+1
|) va—7
p) v

t) y2m—1

xn+1 _ 3x2n—6 + 4xn+3

2b% + 8p2a+2 —

6p5q r7sd

r2s3 3p q3

8y

6ba+1
= 2pqros?

d15 9

9x10y4

4a%p*

x8y6
12

25x15y10 x7y6

28x8y4 g
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